30.12.2023 FIRE OPERATOR CUM DRIVER HSSC EXOM

o

CO, is
(A)
(B) equal

(C) heavier

(D) lesser

(E) Not attempted

than air.

lighter

What is the colour of LPG ?
(4) Blue

(B) Red

(C) Colourless

(D) Light red

(E) Not attempted

can be used in flammable

atmosphere.

(A) Electrical lamps

(B) Safety lamps

(C) Hurricane lamps

(D) Portable electric box lamp
(E) Not attempted

Fire involving in combustible solid

classified under fire.

(A) Class A
(B) Class K
(C) Class B
(D) Class D
(E) Not attempted

YWhich stinging agent is added to LPG ?
(A) Mercaptan

(B) Ketones Jffrg
(C) Musky & ek
(D) Floral

(E) Not attempted

b

CG - FO23

2 |

1. CO, & <l qer o
(A) Beehl
(B) STeI
ey
(D) H
(E) 3T

AT
berid
(= ﬁ (2]

2. LPGHITI R B Z ?

M) e
(D) Beohl ATA

(E) 37T

3. 1 AN SIS AT |
fema ST HeRa 2|
(A) To=ett & &g
_AB) T 3
(C) THM AT
(D) TS SAfageeh i o
(E) TS

4, SIS 3 H NS 3T &
3T % q&d aifishd fehaT TR 2|
&) = A
(B) & K
(C) o B
(D) & D
(E) 19

5. LPG W ®i-u1 fefin wie e s 2 2
(A) WA
(B) el
(C) W&hl
(B e
(15) sranfad
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are generally used for 6. 1 I SR T I qﬂmﬁ
delivering water. & foru fepar e 21
(A) Percolating hose (A) TYh ATl B
(B) Suction hose __{B) 9 B
(C) Non-percolating hose (C) TR-Tueh aTeft B
(D) Unlined hose (D) 3RRaa B
(E) Not attempted (E) TSR

High velocity system used for extinction 7. ARG WA UG H A0 G h T

of fires in flammable liquids having a I=d T OISl ot ITART ok raT & forehr
flash point above T ﬁg ¥ TR BT 2|

(A) 65°C (A) 65°C

(B) 75°C (B) 75°C

(C) 100°C M 0°C

(D) 90°C g‘.‘“ 4 (D) 90°C

(E) Not attempted (E) TSR

The three principles of extinguishment | 8, 3= a7 9 T W% Yorreft § 377 o

e iy | R S, i 2
and 8

(A) exposure (A) i

(B) prevention (B) L

(C) extinction m &I

(D) dilution (D) STReE

(E) Not attempted - (E) 3TSETRG

Approach suit provide heat protection 9. Wi R e THf | &1 O™
upto HTTE |

(A) 93°C M 93°C

(B) 260°C (B) 260°C

(C) 65°C (C) 65°C

(D) 100°C (D) 100°C

(E) Not attempted (E) 3T
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10. How do you copy a string in C Program ?

(A) Using the = operator

(B) Using the strcat() function

(C) Using the strcpy() function
D) Using the strncpy() function

(E) Not attempted

11. Inthe CO,extinguisher, CO,isretained
in a liquid condition at about
bars pressure.
(A) 25 B
(B) 51 e
(C) 41
—
(D) 61 o
(E) Not attempted ] Pk 5]
12. The diameter of the hose reel is normally
(A) 10 mm (B) 19 mm
(C) 36 mm (D) 50 mm
(E) Not attempted
13. The Human Development Report is
published annually by
(A) IMF
(B) IBRD
(C) UNDP
(D) UNESCO
(E) Not attempted
+
14. The integrating factor of dy t+y= 1y 1S
dx X
e:’ﬁ
oy o {ﬁ/; ¢ 42
x . T
(C) xe'/? D) =
(E) Not attempted
C

CG - FO23

10. C 9iu™ 4 ferelt fegm i shidt e hi
STt 2 7
(A) = T I ITFNT Hleh
(B) strcat() B 1 39T FHlh
_4€) strepy() BFME T 39T Fleh
(D) stmcpy()mqﬁﬂmﬂo'{%

(E) STomfd

CO, HAEIHH H CO, TTHT
a1 <kl T ATEAT H 41 Wl @ |
(A) 25
(B) 51
) 41
(D) 61

() ST
fiap2iD)

Bieeay
12. B9 O & 99 99RE: R e

{A) 10 mm (BJ 19 mm
(C) 36 mm (D) 50 mm

(E) JT9ETRId

13. #E famm R o g wfda st
I St B 7
(A) TS
(B) JTESHE!

11. g

14.
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16.

17.

18.

19.

Who was the First President of United
States ? :

(A) Thomas Jefferson

(B) George Washington

(C) Truman

(D) None of the above

(E) Not attempted

i1s a lowest temperature
at which a material will emit vapor
combustible in air mixture.

(A) Flash over
(C) Flash point
(E) Not attempted

(B) Fire point
(D) Flash up

Which of the following are non-
flammable gases ?

(A) C,H,, CH,

(B) H,, C,H,,

(C) CO,, SO, N, el
(D) C,H,, CH, T

(E) Not attempted

Fittings used for joining two lengths of
hose together or to an apparatus are
called as

(A) Couplings

(C) Branch pipe
(E) Not attempted

(B) Diffuser
(D) Nozzles

The Code of Practice for fire safety of
buildings exit réquirement as laid down
in the

(A) 1S-1644
(B) IS-1654
(C) IS-1532 : 1990
(D) IS-1650 : 1988
(E) Not attempted

: 1988
: 1988

CG - F023

15. TIFT U9 SHNHI & T8t T B § 2
(A) IHY JTHEA
_(BY it af¥nTed
(C) Z
(D) IWiad § ¥ HI3 Tl
(E) 3T9TYd

16. T MHdH d9gE g 59 W 308
et a1 & e § sgemsfier 9y @5
3eHSH LAl B |
(A) FATT 3R (B) 3 fog
(YR @Ee (D) WY 39
(E) TR

17. THfcRed § @ sq-d R-saemsia
T4 8 ?

(A) C,H,, CH,
(B) H,, CH,,
ey co,, so,, N,
(D) C,H,, C,H, —
(E) 3T9THd f%

18. Tl OETS & B9 I Wb 9 A7 fopeft Sue=-
g Sied & foe s<ae 6 9H areft 7
el 8

Pk (B) fewmR
OEERIE (D) ArierE
(E) JT9ATTEd

19. ARG § " e 6 311\
1 e % T Hie 3% Jedal
ﬁﬁafﬁﬁ%mﬂm% |

(A) IS-1644 : 1988

(B[ 1S-1654 : 1988

(C) IS-1532 : 1990
(D) IS-1650 : 1988

(E) A9
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20.

21.

22.

23.

suit helps the fireman to

work very close to the flames.
(A) Proximity suit

(B) Entry suit

(C) Approach suit

(D) Jacket suit

(E) Not attempted

In degree celsius, water

change into solid state.

(A) 100 (B) 5
(C) O (D) 2
(E) Not attempted

In SQL (Structured Query Language),
refers to differences within the
group or set of data of a variable.

(A) Range

" (B) “Agcuracy

(C) Standard deviation

(D) Validation

(E) Nét attempted %‘%ﬂ
. E' El

Saraswati Wildlife Sanctuary is

situatedin ____ district of Haryana.
(A) Kurukshetra

(B) Hisar

(C) Karnal

(D) Kaithal

(E) Not attempted

Find the odd man out.
(A) 4774

(B) 363

(C) 4174

(D) 3773

[E] Not attempted

CG - FO23
20. T2 HETH I AT i A9 *
g HE HH B § HGG HLT 2 |
(A) Sifeaife ge
(B) T e
Jlo g ek T
(D) dhe L
(E) 3Twniyd
1. et afcga 4 ot 39 3rewen 1
ECEREIGI
A) 100 B) 5
0 (D) 2

2.) SQL (Waig Wi oiae) §  fopd
W h TR A1 3 % T F offar 3R B
HefHa T 2 |
(A)

(B) &l

/&cfmw CERE

(D) "cIT94

(E) Auanfad

IO &+

W%ﬁ 8
() e I

(B) feam"
. (C) HETA
(D) U -
(E) 3TuaT¥d

e d gradt gre

(29 wdon o s S

(&) 4774"
(B) 363

M4
(D) 3773

(E) SToATiEa
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25. A buildings in height shall | 25, ﬁ‘g‘ T U Uch SHILG &I ] BTG
be considered as high rise buildings. F 7 O 5= ST |
(A) 15 m or above & 15 m I 3EH IR
(C) 14 m SEEte (C) 14 m
(D) 12 m (D) 12 m
(E) Not attempted (E) TG

26. The maximum size of the gas cartridge | 26. 9 ffer 91X TR % foru g ehrigst i
is gram for a 9 litre TRray % |
S ATHR pIEe]

water extinguisher,

(A) 10 (B) 120 (A) 10 : 120 AT
(C) 60 (D) 180 M(’E{

(E) Not attempted (E) 37s=mfi

27. Which among the following is toxic gas ? | 27. f=feiflad § @ $q-o Selct Mg 8 7

(A) Argon (A) IATH
(B) Sulphur dioxide _ABJ ot SEATEE
(C) Helium (C) BifeTam
(D) Carbon dioxide (D) hTeH SIE3[ITEE %{E
(E) Not attempted (E) AT
28. knot used as sling to lower | 28. ATe ST T g Ffed sl 419
unconscious persons. $ & fore oot & &9 8 fopar Smar 2 |
(A) Bowline (B) Reef knot INEEIRGIES (B) {® AT
(C) Half hitch (D) Chair knot o (D) =RR e
(E) Not attempted (E) 3T9iEa

29. The heat which is absorbed during | 29. 3/ ¥ 3d ¥ ayaey UREdd R ST el

change of state from solid to liquid is YNNG Bt 2, 39 el ST gl
called A) g =
(A) Liquefied stage B) e
(B) Inhibition (C) 3 T
(C) Fire suppression
' A dd HH]

(D) Latent heat Vﬂ{)

(E) STSTATRIG

(E) Not attempted
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30. Industrial buildings of low and moderate

hazard are permitted only upto ___
height.

(A) 18 m

(C) 25 m

(E) Not attempted

(B) 20 m
(D) 22 m

type extinguishers provide its
own pressure for discharge from the
storage container.
(A) Water

(C) DCP

(E) Not attempted

31.

(B) Foam
(D) CO,

32. In method crews construct a
fireline at some distance from the edge
of the fire.

(A) Prescribed burn
(B) Pre-fire planning
(C) Penciling

(D) Parallel attack
(E) Not attempted

S

EIE;

What does E-R stands for in the E-R

model of database design ?
(A) Entity-Relationship

(B) Error-Resolution

(C) Event-Response

(D) Efficiency-Robustness
(E) Not attempted

33.

34. Identify the reaction order of the

following rate constant.
k =2.3x10" L mol-1s!,
(A) Second order

(B) Zero order

(C) First order

(D) Third order
(E) Not attempted

CG-FO23

+9 IR 7T TR gl e 3Rl
! el T8 qeh &l M

al Il 2
(B) 20 m

L>(.gj/18m
i )pfzzm

(C) 25 m
TR oh TS TSR She
¥ fdea & U 31991 o9 yem 4 § |

(A) 9T (B) ®IF

(C) DCP 4Py CoO,
(E) A9

ferfey o seffeer 3t & fFm @ 9o
ol T ek 3 Y@ o AT S B |

(A) Fuifa sen

(B) T& A= T

(C) ufdferm

D) Were 31

(E) TR

33. SEEd f$9ET % E-R Hige § E-R 1 1
74 g ?
(AyifeRe—frermfim
(B) W-TElepR @y
(C) SHe-Yeirg s
(D) CfhRE=-Tatey
(E) 319

31.

32.

34| Prfifen @ s 5 s w0 6
T8a |

k=2.3x10" L mol-ls-!

TNREGIEE: B
(B) I 7
() TUT Y

(D) qitF shH

S
9.3 L0

(E) 3TSRmiyd
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For what purpose are antipyretic
medicines used ?

(A) Medicines for blood cancer
(B) Medicines reduces fever
(C) Medicines for body relief
(D) None of these

(E) Not attempted

6. Latent heat is measured in
(A) Ampere
(B) Meter
(C) Grams
(D) Joules per unit mass
(E) Not attempted
37. In system intermediate pumps

are arranged to be kept between the
supply pump and the fire.

(A) open circuit
(B) closed circuit
(C) truck relay

(D) turn table relay
(E) Not attempted

38. The color code for 93°C bulb type
sprinkler is
(A) Orange
(C) Red
(E) Not attempted

(B) Green
(D) Yellow

39. Expand NBC,
(A) National Bureau Code
(B) New Business Code
(C) Natural Bacterial Concentration
(D) National Building Code
(E) Not attempted

CG - FO23

35. uRuEfes IiwREl &1 T 6y wE &
T fopan e 2 2
(A) T hE & fow e
(B) SIIU §@R & Hdl &
__(Cy3iR =t TEd ¢ aTelt gaTg
(D) ¥ | HI3 &
(E) 3TSaTEd

36. 3SUad H™T ¥ |7 ST 8 |
(A) TR
(B) HieX
(C) U™

BT IF it gfie W

(E) 375

37. TONteT & gevfifeue qat =t 3mmgfd
99 3R M & " @ 6 e H
STt B
(A) AT Hiehe
By FIISE Hfehe
(C) T Tt
(D) & et &
(B) T9mfed

38. 93°C od g9 fiishent & 1Y HeR HIg

_ 7
(A) TG %

oy T

(E) TSR
39. NBC (THstH]) o1 fomar &Ll

)ﬂ@w 2 Fre
(B) 4 fasma #is
(C) T dFTIe ey
__(D)- v fafee s
(E) 39Ty

(B) & %
(D) i G

5
EIACT
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40. Which of the safety requirement is not

correct in the event of total flooding ?

(A) Provide adequate lighting with
directional signs

(B) Warningsignsshould be positioned
inside of the protected area

(C) The alarms should activate a few
minutes before the operation

(D) CO, installed in explosive areas

should be provided with metal
nozzles

34 E]
L3 i

Bl

(E) Not attempted

41. Ultraviolet detectors work with
wavelengths shorter than
(A) 100 (B) S0
(C) 200 (D) 300

(E) Not attempted

42. A is a device that connects two

LANs or two segments of the same LAN.
(A) Hub (B) Switch

(C) Router (D) Bridge

(E) Not attempted

43. Haryana government notified Punjabi

as the State’s second language in
(A) 1947 (B) 1968

(C) 1966 (D) 2010

(E) Not attempted

When is the World Homeopathy Day
observed ?

(A) March 11
(C) March 10
(E) Not attempted

(B) April 11
(D) April 10

CG - FO23

40. o ¢ shi TR o shia -l gLet 3rmevgssar

HE Tl B 7

(A) Tewewes dendi & T TS TH
SIEAT i

(B) el Toha wIfera &t o 3iet e
BT =1TRY

(C) SATIEH ¥ %8 e yget 37 |l
gl SIHT =118

Wﬁéﬁﬁwﬁﬁ CO, ! 4T

% ANl b |TY S TohaT ST 9MMey

(E) 3=y

41. ‘leﬁTFﬁ m nm o &4
qUTCE % Y HH H § |
-eﬁfmo (B) 50
(C) 200 (D) 300
(E) AT

42. Tsh TR 8 1 & o (LAN) 0
@%‘Téq (LAN) & @ @&l & Ji=dl 2 |
\(A) &S (B) fe=
(€) ¥ D) sfige SRS
(E) 3T E%ﬁ

43. AT THER ¥ go& ) g 6 fodfim
WISl & &9 H riergfm 1 fepam)
(A) 1947 (B) 1968
(C) 1966 Dy 2010
(E) TSt

@) v Bfaeft foew e gamr ST 2 2

. (}({llfﬂ?f (B) 11 318«
(C) 10 AT (D) 10 3T
(E) TSR

-10-
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46.

Foam is produced by mixing foam

concentrate with
[=]
= "IH

(A) CO,
*:a(B) Powder
= (C) Water
(D) Oils
(E) Not attempted

Which of the following pairs of physical
quantities may be represented in the
same unit ?

(A) Heat and temperature
(B) Heat and work
(C) Temperature and mole
(D) Specific heat and heat
(E) Not attempted

47. Flame cutting equipment work with
the combination of acetylene gases
and

(A) Oxygen

(B) Oil

(C) Fluids

(D) Water

(E) Not attempted

Asper TACwater storage recommended
for ordinary hazard industry is

(A) Not less than 1 hour aggregate
pumping capacity

(B) Not less than 3 hours aggregate
pumping capacity

(C) Not less than 2 hours aggregate
pumping capacity

(D) Not less than 4 hours aggregate
pumping capacity

(E) Not attempted

48.

o

CG - F023

DR %

45. HIH HI IAC BIH hi
a1y TrermeRt Tomam S 2|
&y CO,
(B) WTSe
(C) Tt
(D) o
(E) 319

46. Tfefan & 3 wifges gmredl &1 HH-
T YU 3RS | QAT ST Hehdl & 7
) ST R amHE

A T Iyerror wftrfeefi g 3ik
% G5 & 91 HY HQ B
AT S

OFrio

(B) I&
(C) &d
(D) W
(E) TR

48. TAC % e, Ty ifiaw Ay e

forg Sl weror <t R <
ST & |

(A) 1 ¥ & %y ufRrq Wi smar T&8
(}Ka 0 A W Iufn wfi &WaT TE)
(C) 2 8¢ 8 &N IufRrg i & T8

(1)) ¢ 'r,]:f g ch¥] :]qﬁf?m g &\drn '-'-Fatf

(1) 3tsnie
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49. Which of the following is active fire

protection system ?

(A) Fire resistance rated walls and
floors |

(B) Manual or automatic fire
detection

(C) Minimizing ignition sources

(D) Emergency evacuations

(E) Not attempted

50. Maratha ruler Tantia Tope had built a

fort at this place of Haryana
(A) Mahendragarh

(B) Narwana

(C) Bhiwani

(D) Jind

(E) Not attempted

51. The simplified form of

in 4o+l g in+2 +in+3 is
4) 0 (B) -
C) 1 D) i

(E) Not attempted

52. In SQL (Structured Query Language)
1s simply the average of

numeric values of an attribute.

(A) Mode
(B] Median %lﬂ
(C) Mean oA

(D) None of the above
(E) Not attempted

53. CABA stands for
,,/(—ﬁ(]/Cnmpressed Air Breathing
Apparatus
(B) Compelled Air Breathing -
Apparatus

(C) Compared Air Breathing
Apparatus

(D) Compelled Air Blood Apparatus
(E) Not attempted

-12-

49.

50.

S1.

52.

53.

CG - FO23

efalRaa © 9 s-91 @

JOITeAT B 7

(A) 3T gfetiy e Sani 3T &

é/@{ﬂgmm wE=ITAd 3T o1 Il T
) SMESH EIdl 1 HH BT

(D) CIEGCANIERE- 2]

(E) 3Toer

ST SISk T 219 3 20T & 39 W
T U Tehdll SR

Ay RS

(B) &M
() Trar
(D) Siig

(E) SToTHd

i"+ 0+ 14+ §n+2 4 jn+ 35T TR &9 §

(A) O (B) =1 (1™

Q) 1 _RTT

(E) TSR

SR 3T TEa

SQL ¥ (Faaig 3w o)

ferIvaT aTer FeaTeTsh O W afEd 2 |

(C) HTEy

(D) 3wt | | IS e
(E) 3TSRIfg

CABA &7 319 2

(A) FIES TR i ¥R
(B) TS TR sfife dew
(C) FI3TE Ea sfifir vtew
(D) IS T3R8 TRy
(E) TSR

T
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54. What is the temperature of orange

colour bulb type sprinklers ?
(A) 57°C (B) 79°C
(C) 68°C (D) 93°C
(E) Not attempted

55. Normal body temperature of human

body is

(A) 39°C

(C) 39°C

(E) Not attempted

(B) 37°C
(D) 38°C

56. The energy possessed due to the

motion of an object is called E3 6

A e,

(A) Potential energy Eltiﬂ“

(B) Kinetic energy
(C) Thermal energy

(D) Power
(E) Not attempted
57. Water boils at at atmospheric
pressure.
(A) 0°C (B) 35°C
(C) 86°C (D) 100°C

[E) Not Elttempted

58. Water spray cannot be used on

fire.

(A) Class A

(B) Combustible solids
(C) Wood, paper

(D) Class C

(E) Not attempted

CG - F023

54, T O % dod BT TEheR H aHH

fhaT BIAT & 7
/LBT 79°C

(A) 57°C
(C) 68°C ) 93°C
(E) AvaTRId

55. HHEY IR &HT 9HETE I d99H

g 8 |
(Bf 37°C

(D) 38°C

(A) 39°C
(C) 35°C
(E) A9aida

56. Tohdl s T 7T & HRoT B STl e Wi
gl AT 2|

(A) FYTfea St

By it St

C) AT et

(D) Wik
@

57. 9Hl
(A) 0°C
(C) 86°C

(E) -3TS=mfrg

AYHSHTT gre W I 2

(B) 35°C
__(pyioo°c
58. UM % T T we HIT 9T
foran ST wepar 2
(A) T A
(B) GeTRieT St
(C) TSI, THITH

‘/uaj/aﬁc
(E) TR

-13-
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S9.

60.

61.

62.

63.

Which of the following is not a method
of heat transmission ?

(A) Radiation

(B) Conduction
(C) Convection
(D) Explosion

(E) Not attempted

In the deluge systems type of
sprinklers installed.

(A) closed mym
(B) pressure gﬁ:ﬂj

(C) open
(D) plastic
(E) Not attempted

What is the primary advantage of
parallel processing ?

(A) Reduced power consumption
(B) Increased processing speed

(C) Lower cost

(D) Improved software compatibility
(E) Not attempted

According to the 2011 census report,
which State recorded highest density
of population in India ?

(A) West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

(E) Not attempted

What will come in the place of question
mark ?

W -144,?,S-100,Q-81, O - 64
(A) U-121 (B) V-121

(C) U~ 122 (D) V- 128

(E) Not attempted

CG - FO23

50. fr=fefad ¥ & SH-91 ST T=10 H
TR T8 B 7
(A) Tafeptar
caly B) heHH
B [
(C) M
D) e

(E) AwATRd

60. SIS YUferl H
ST ¢ 3 |
(A) =g TeRaT AT
(B) &=
(C) Get
- (D) AT

(E) 3TSETHd

S e
AhIX on A9

61. WoTer AT &1 TUWS AT RO B ?
(AyH Terteft St @ud
(B) SrEfEm i fd J Fig
(C) =hH |TTd
(D) 3Td TiFeadL diadr
(E) TSR

2,) 2011 & SFTUHT TOR & IR 9RT |
I SHEE B9 Il U9 H-91 8 7
(A) T ST
ABT ST T

63. T U8 & T&H W =T I ?
W — 144, 2. 8 - 100,'Q — 81, 0-— 64

AarG-121 . (B) V-121
(&) = 123 (D) V- 128
(E) TSR
e B 1 ( 0 9 ou “f.'."f}
-14- N e Cesit ]l fleyvpp,
9 Yy w U WU ,-2\;:;{'!::/\{

J(I-J'H.'J"-I 1_'!" i." J‘il" |='l.| ta Oh L by

Iy
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64,

65.

66.

67.

In the Manual fire alarm system, which
of the following is manual system of
raising alarm ?

(A) Rotary gongs

(B) Sprinklers

(C) Detectors

(D) Fire suppression
(E) Not attempted

is the transfer of heat by
moving particles of liquids or gases.

(A) Conduction
(B) Convection
(C) Uninhibition
(D) Inhibition

(E) Not attempted

As per National Building Code of India

buildings are categorized under

Group H of occupancy.

(A) Educational

(B) Storage

(C) Industrial i

(D) Residential L
(E) Not attempted h

Area from which escape is possible in
one direction only is

(A) exit point

(B) assembly

(C) dead end

(D) riser

(E) Not attempted

~-15-

CG - ro3

64. g3l B e foeed § e § 5
Fr-g7 TR 3T st HISTS T 2 7
(A) Tl HfEATe
__(By Toewm
(C) Tt

(D) 3T qHA
(E) ST9Tyd

o e % e ot g
3T ST AT 2|
(A) HSHMH

/By i

(C) TSIl
g*ﬁ (D) sfeferem
(E). T91Ryq

65.

66. mﬁ%mm%%ajm{
SHRA U & J9 H % i

3Tl B |

(A) Thiereres
L BrYEnm

(C) 3Tenfires

(D) HAEEHT ¥

(E) 35T

67. ﬁﬁ@ﬂﬁwﬁﬁmﬁmﬁﬂa%,

/m’ﬁw ferg
(B) 3T

(C) @E TS
(D) T
(E) 3TSTRIG
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68.

69.

70.

71.

72,

[n Python function returns
an integer that specifies the current
position of the file object in the file.

(A) seek() (B) tell()

(C) read|) (D) write()

(E) Not attempted

If |x-2|<1, then

(A) xe(-1, 3)

(B) x€[-1, 3)

(C) xe(1, 3) F{_E
(D) xe[1, 3] I

(E) Not attempted

According to the 2011 census report,

the women literacy rate in India is
(A) 74.3% (B) 75.4%

(C) 82.14% (D) 65.46%

(E) Not attempted

TAC stands for

(A) Traffic Access Control

(B) Traffic Advance Committee
(C) Tariff Advance Committee
(D) Tariff Advisory Committee
(E) Not attempted

System provides protection for
buildings from internal fire.
(A) Drencher |

(B) Sprinkler

(C) CO,

(D) Hydrant

(E) Not attempted

B

CG -FO23

68. UEH hasH Teh YUTIeh oal
2 9 BTSe H PIEe 3ifsaee hi S fRuf
&I fifdse @ 2 |
(A) seek() (B) tell()
(C) read|) 4P| write()
(E) TSR |

69. A |x-2|<1g,

(A) xe(-1,3) .- —
g e
Mr&e[—l,a g )

(C) xe(1, 3) B\ 3
(D) xe[1, 3] %
(E) 3T9ITEa

70. 2011 I SOFT T & AR 9Rd |
nfeel wiarar ot fohat 8 2
EE (A) 74.3% (B) 75.4%

e (C) 82.14% X Vtmfﬁb‘ﬁﬁ%

(E) 3799114d

71. TAC ] Hddld %l
(A) s THEE Fre
(B) 2fther g Hiufe
FGATH Hffe

(  AGATSIN Hiyfe
(E) T5=mfd

72, Sl TN 3T ¥ ARG
& TGH HTd! B
(A) S
/(Bﬁifﬁ%lm
(C) CO,
(D) &TEge
(E) AT
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73. Chermical formula for oxygen is
(A) O, (B) CO
(C) CO, (D) H
(E) Not attempted

74. Which of the following is type of
synthetic rope ?
(A) Manila
(B) Nylon
(C) Cotton
(D) Sisal
(E) Not attempted

75. A vertical pipe installed in a building
for fire-fighting purposes, that is

permanently charged with water is

Sive

G

(A) Wet rising main
(B) Total flooding
(C) Dry rising main
(D) Local application
(E) Not attempted

76. AR — AFFF used on fuel fires containing

(A) Wood (B) Metal

(C) Electrical (D) Alcohol

(E) Not attempted

77. Full form of MCB is
(A) Miner Control Board
(B) Miniature Control Breaker
(C) Miniature Circuit Board
(D) Miniature Circuit Breaker

() Not attempted

-17 =

CG - F023
73. TS ST TEEHS g 2|
;A( O, (B) CO
(C) CO, (D) H,

SET (E) STETiyd

3".n.
I-l._hr"-

74. T=fafaa 5 9 s-d Ui = &
e
(A) HATSAT
(BY 91914
(C) 41"
(D) HTZHA
(E) 3T9=TiHd

75. 3fH9mA vl o fow U s o g
Us S&dd 9139 S 9 9 ©rEl ®9 975t

7, T8 BN R |
/m/éczw%mﬁq
(B) F =g

(C) g1 TsfSrT A4

(D) T IR
(E) 3T9aTiad

76. AR-AFFFWHE?FTW@HW?{WW
% 3-‘9%{ Eﬁ?l’[% [
(A) Shgl ~
(C) fargd ~
(E) AT

77. MCB I U &Y
(A) HTET I i
(B) FT=R &gt S
(C) =R wfhe =i

Dy TARTR wfhe St
(E) YA
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78.

79.

80.

31.

82.

When any building is used for more
than one type of occupancy is called
(A) Mixed occupancy

(B) Light Hazard occupancy

(C) Hazardous occupancy

(D) Storage buildings

(E) Not attempted

The temperature at which a liquid
boils and becomes a vapour is the
(A) Melting point
(B) Boiling point
(C) Freezing point
(D) Density %ﬁg
(E) Not attempted El#
A modem’s transmission speed (the rate
at which it can send data) is measured in
(A) Hertz

(B) Bytes

(C) Bits per second (bps)
(D) Watts

(E) Not attempted

Which number will come in the place
of question mark ?

7,26, 63, 124, 215, 342 ?

CG - FO23

78. &9 Tordl SURG 1 39T U H Al
TR o TR & Toru foma oimam &, @ 39
&1 ST 2
ST AT
(B) BEshI Wall AR
(C) WA R

79. 98 q99H 59 W FIE TS ITdT 2 3

aTsq &9 Tl 2, 98 gial &l
(A) T

80. U Hieq =l g=wor g (| &t | I8
99 e B) I T 7T ST B |
A) &
(B) SiTecH

bt%/ﬁf{a i ¥$s (bps)

(D) €me
(E) v

2 v g % W W si-oft gen R ?
% P, A i =
% 36,63, 124,215, 342,72

(4) 391 (B) 481 (A) 391 (B) #481 &V
(C) 421 (D) 511 (C) 421 ﬁ@ll
(E) Not attempted (E) TSRTEa
Utility rope for raising or lowering 82. THNN W & YR qrdy H FW IIW
moving parts of extension ladder is 1 = 1 F ﬁ"ﬂ'q ?J;i%ﬁ“»lzﬁ U9 HI
called ]
| %ﬁ?g gl ST 2 |
(A) Hardline  (B) yalyard @5, (A) BTS WS - (B) ®TeTS
(C) Wirerope (D) pyjler (C) R T | JB)/ Joeit
(E) Not attempteq (E) 3T9TRId
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Foam extinguisher can either gas
cartridge type or typ
(A) Stored pressure

(B) Chemical pressure
(C) Cylinder pressure
(D) Hydraulic pressure
(E) Not attempted

4. 19.5% oxygen level is considered as a
condition.

(A) Enriched

(B) Fainting

(C) Normal

(D) Minimum safe
(E) Not attempted

35. Inthewetriser system, size of the vertical

pipe should not be less than mm
internal diameter.

(A) 65 mm

(B) 100 mm

(C) 50 mm

(D) 74 mm

(E) Not attempted

What is the full form of TEC ?
(A) Typical Environment Control

36.

(B) Ternary Eutectic Chloride

(C) Tender Equipment Commission
(D) None of these
(E) Not attempted

(=
87. Volts = Amps X
(A) Ohms )(’B/ Resistance
(C) Watts (D) Voltage

(E) Not attempted

CG - F023

83. W STFT g Tl AT Al TE HIgsl TR
AT U I &l dhdl &l
(A) EHlEd e
By TEI{h qeTe
Wﬁflsi CEIC
D) ET3glicteh qoTd

(E) AT

19.5% 3Tiesi9 T
T 14T 21

gepm () TICH
E;ﬁﬁ (B) ®f=m

AT S

(D) =R gliara
(E) STIaTE

84,

(D) 74 mm 3.

(E) TSI

86. TEC (=€) %1 ol wq w7 grar 2 7
(A) TEITHS SIS Shgter

(B) =l LT woiRoses
A€y U saguiic sitee
(D) 399 & HIs &l
(E} m%ﬁ V :q:;:‘!%h“‘“
AXE
87. ‘oﬁ“z U_'JI:TIR x
A STm (B) ere2=
(C) @ (D) et
(E) IR
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% CG - FO23
88. Sparge pipe is useful to protect 88. WIS UIEY ] gI&n ED foTe
(A) Engine from heating 3UA 2|
(B) Tyres from ground fire to water (A) gifen & g5
the road (B]Hﬁmmﬁaﬁfﬁt{ﬁtﬁ:ﬁmﬁw
(C) Vehicle from radiant heat (C) Usue €ie & ar8d
(D) Hoses from damaging /(—Efr 2Ny &I U 8H g
(E) Not attempted (E) ITIATIG
89. Fire involving combustible metals are 89. SIosfic %T@aﬁ q G\lﬁr I Yot
classified asaclass  fire. 3T % &9 1 ETﬁTT'_d R STET %l
(A) A (B) C (A) A (B) C
©) B D) D ©) B PrD
(E) Not attempted (E) TSI
90. Hydrostatic pressure testing is required | 90. Tih agt o S rfiemmel +
for water extinguishers in every Tow B’E@'@ﬁa; S gdequr <l vl
years. 2l 2l
(A) 3 (B) 8 , NA3 (B) 8
(©) 5 D) 10 W CR D) 10
(E) Not attempted Eﬁ (E) A9ATA
91. What is the purpose of system 91. Tiren Tigea=y & & IR ?
? 3
TE{U’;T:I :réate documents and ) ?mlq\'ﬂ it m ami[ N BN
presentations (B) $eTHe 9@ AR 99 Hg T TE
(B) To browse the internet and oy
access web content W TRA T &7 JeEE S
(C) To manage the computer’s ¥ forw
hardware resources
(D) To edit photos and graphics (D) Il IR WMtheh % Tfee & foTg
(E) Not attempted (E) TS
92. This lake is also called as Ottu reservoir 92. 39 i i 3ﬂ§ SIS +ft %ﬁ 2
(A) Sukhna lake S (A) G HIT X
(B) Jui canal e (B) T e
(C) Dhanur lake - SO (C) &t i
(D) Diwanawala lake D) SEEE i
(E) Not attempted (E) ST
-20-
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1S a composite gland
11ch acts as both exocrine and
1docrine gland.

\) Adrenal gland

B) Thymus

(C) Pancreas

(D) Parathyroid gland
(E) Not attempted

i1s formed when immiscible

liquids are agitated together and one
of the liquids is dispersed throughout
the other.

(A) Dilution

(B) Smothering

(C) Emulsion =l 5se

SURE]
(D) Atmospheric pressure oD

(E) Not attempted

Fire buckets are painted with
color.

(A) Bright Red
(B) Wooden

(C) Steel

(D) Maroon

(E) Not attempted

A route fnrnﬂng part of the means of
escape from any point in a building to
a final exit is called

(A) Fire door

(B) Fire lifts

(C) Fire exit

(D) Escape route

(E) Not attempted

93.

94. a9 §9d7 8 S§ I7HHiT aiT b

1Y Ffoa g € 3t w o g H e
JTaT B |
(A) STEYIH
/ )
_AB) e
(C) UHeIH

(D) Ig9SHT esd
(E) 3T9iyq

(D) #&

Gk TR

e

96. TH TRA | fohaft oft firg & aifermy forshrdl T .
ﬁﬁﬁﬁ%ﬁmmﬁmaﬁmﬁmﬁﬁ

gl JTdT 8 |

(A) BRR R

(B) BIRR fore
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97. A pre-mixed foam installation storage
tank designed for maximum working

98.

99,

100.

(:

pressure of

(A) 10 bars o
(B) 12 bars 1”7’;
(C) 7 bars €
(D) 20 bars

(E) Not attempted

Which type of fire extinguisher must
not be used in case of electrical fire ?
(A) Dry powder extinguisher

(B) CO, extinguisher

(C) Foam extinguisher

(D) FM 200 extinguisher

(E) Not attempted

Which of the following is a common
type of auxiliary memory ?

(A) Cache memory
(B) Solid State Drive (SSD)
(C) Random Access Memory (RAM)

i

Dainik Haribhoomi is the 1t National
Newspaper published from
district of Haryana,

( A) Hisar

(B) Gurugram

(C) Rontak

D) Kaithal

[E] Not attempted

(D) Magnetic tape
(E) Not attempted

CG - FO23

67)

% 3Uehan M & qHE & o
TEAYE WIS ¢ TeusT 9 fi-fiags
®Iq feRam T |
(A) 10 SR

12 9
(C) 749K
(D) 20 §R
(B) 3T9gTTYd

98. Tastell @ 3 o <l fufy o frg o &
Ffeme 1 S TE e =R ?
\AAT T IS I T e
(B) CO, 31 FH Tl
(C) B 3P G =TT
(D) FM 200 AT §H STl
(E) 3T9Td

99. fi=feiiga & ¥ wF-d Tems A9 =1
Tsh g THE 8 ?
(A) I AHI
(B) Hifele Ve g5 (SSD)
_eT Ten e A (RAM)
(D) A=fess 2g & 5
(B) 319

100. < B

TS GRS 2 |
(A) T&ur

(B) TH

o freed 9T WUy
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